

GOVERNMENT OF MANIPUR  
OFFICE OF THE DIVISIONAL FOREST OFFICER: UKHRUL FOREST DIVISION UKHRUL: MANIPUR

**AUCTION NOTICE**  
Ukhrul, the 5<sup>th</sup> March, 2026

No.7/FCA/13/2024/KUI-HUI-POI: In accordance to the “In-Principle Approval” granted under Section 2 (1)(ii) of the Van (Sanrakshan Evam Samvardhan) Adhiniyam, 1980 vide letter No: FP/MN/DEF/506071/2024 dated 18<sup>th</sup> February, 2025 from IRO, Shillong for Construction/Improvement of road Kuirei-Huishu-Poi (Section-B Km 16.325 to Km 34.650) to NHSL specifications under 84 RCC/25 BRTF Project Sewak in the State of Manipur, the felled trees for the extension of the road amounting to 498.91 CUM (17619 Cft) i.e. -A2-Class 51.42 Cum (1815.90 Cft); B-Class 164.23 Cum (5799.78 Cft); C -Class 283.26 Cum ( 10003.33 Cft) timber shall be sold by way of e-auction through Forest Department’s online portal [www.forest.manipurforest.gov.in](http://www.forest.manipurforest.gov.in) and bidding can be done till 12<sup>th</sup> March, 2026.

Abstracts of the lots, floor price/upset price and earnest money deposit of the round timber are enclosed in annexure I

**TERMS AND CONDITIONS**

1. Intending Registered Forest Contractors/HPC Cleared Sawmill/Wood based Units/ individuals may register and apply for the e-auction on the Forest Department’s Portal [www.forest.manipurforest.gov.in](http://www.forest.manipurforest.gov.in) from 5<sup>th</sup> March, 2026 to 12<sup>th</sup> March, 2026 (6.00 pm). Bids after the due date shall not be accepted.
2. Intending bidders may inspect the timbers and get satisfied themselves of the quality and quantity of the timber before joining the e-auction. No complaint on the quality and quantity of the timber after the auction sale will be entertained.
3. The intending bidders shall deposit 5% of the floor price as Earnest Money Deposit, as shown in Annexure-I, in the form of D-at-Call/Banker’s cheque/cash for the lots he intends to apply to be drawn in favour of the Divisional Forest Officer, Ukhrul Forest Division from any Scheduled Bank.
4. The rates should be offered for an entire Lot and no part of a lot can be bid separately. A Bidder can apply for all the lots, but separate bids should be offered for each lot.
5. The auction shall be opened and compiled by a Committee constituted by the Divisional Forests Officer/ Ukhrul Forest Division and in presence of the bidders or his authorized person, if any, on 13<sup>th</sup> March, 2026 at 11:30 am at Ukhrul Forest Division Office, Ukhrul, Manipur.
6. The timber shall be for consumption within the States of Manipur only. If the successful bidder intends to transport the timbers outside the State, but within the North-East, he shall obtain special permission from the State Government and pay outside TP fee and other charges as per the Rules.
7. The Earnest Money Deposit will be refunded to all bidders after the finalization of the auction sale or shall be forfeited in case of violation of terms and conditions of the auction sale.
8. Auction once bided cannot be withdrawn. In case of withdrawal, the Earnest Money Deposit will be forfeited.
9. Successful bidders should deposit the bid amount along with applicable GST within 10(Ten) days of the approval of rate/bid value by the competent authority, failing which, the Earnest Money Deposit will be forfeited to the Government and next highest bidder shall be considered
10. The Divisional Forest Officer, Ukhrul Forest Division reserves the rights not to accept or reject any bid without assigning any reason thereof.
11. Should any dispute arise, the decision of the Principal Chief Conservator of Forests & HoFF, Manipur shall be final and binding to all the parties.



(Laishram Gitla)

Divisional Forest Officer cum Authorized Officer  
Ukhrul Forest Division  
Government of Manipur

Divisional Forest Officer  
Ukhrul Forest Division  
Government of Manipur

Copy to:

1. The Principal Chief Conservator of Forest & HoFF, Government of Manipur
2. The Chief Conservator of Forest T-I, Government of Manipur
3. The Conservator of Forest, Northern Circle, Government of Manipur
4. The Range Forest Officer, HQ/Ukhrul & Chingai Range, for wide circulation
5. Notice Board
6. Guard file



**Divisional Forest Officer  
Ukhrul Forest Division  
Government of Manipur**

**Abstracts of the Lots, floor price and Earnest Money for the auction sale of 498.91 CUM (17619 Cft) i.e. -A2-Class 51.42 Cum (1815.90 Cft); B-Class 164.23 Cum (5799.78 Cft); C -Class 283.26 Cum ( 10003.33 Cft) timber Vide Auction Order No.No.7/FCA/13/2024/KUI-HUI-POI dated 5/3/2026**

LOT NO	Class	Volume	Volume (in Cft)	Price per Cft	Price excluding 18%GST	Price including 18% GST	Earnest Money Deposit
		(in Cum)		(Rs.)			
I	A2	5.12	180.81	450.00	81366	96012	4801
II	A2	5.09	179.75	450.00	80889	95449	4772
III	A2	5.10	180.11	450.00	81048	95637	4782
IV	A2	5.01	176.93	450.00	79618	93949	4697
V	A2	5.05	178.34	450.00	80253	94699	4735
VI	A2	5.22	184.34	450.00	82955	97887	4894
VII	A2	5.2	183.64	450.00	82637	97512	4876
VIII	A2	5.15	181.87	450.00	81843	96574	4829
IX	A2	5.17	182.58	450.00	82160	96949	4847
X	A2	5.31	187.52	450.00	84385	99575	4979
XI	B	5.06	178.69	370.0000	66117	78018	3901
XII	B	5.00	176.58	370.0000	65333	77093	3855
XIII	B	5.07	179.05	370.0000	66247	78172	3909
XIV	B	5.33	188.23	370.0000	69645	82181	4109
XV	B	5.15	181.87	370.0000	67293	79405	3970
XVI	B	5.17	182.58	370.0000	67554	79714	3986
XVII	B	5.06	178.69	370.0000	66117	78018	3901
XVIII	B	5.16	182.23	370.0000	67423	79560	3978
XIX	B	5.05	178.34	370.0000	65986	77864	3893
XX	B	5.25	185.40	370.0000	68599	80947	4047
XXI	B	5.26	185.76	370.0000	68730	81101	4055
XXII	B	5.05	178.34	370.0000	65986	77864	3893
XXIII	B	5.71	201.65	370.0000	74610	88040	4402
XXIV	B	5.23	184.70	370.0000	68338	80639	4032
XXV	B	5.27	186.11	370.0000	68861	81256	4063
XXVI	B	5.78	204.12	370.0000	75525	89119	4456
XXVII	B	5.05	178.34	370.0000	65986	77864	3893
XXVIII	B	5.87	207.30	370.0000	76701	90507	4525
XXIX	B	6.38	225.31	370.0000	83365	98370	4919
XXX	B	5.63	198.82	370.0000	73565	86806	4340
XXXI	B	5.46	192.82	370.0000	71343	84185	4209
XXXII	B	5.95	210.12	370.0000	77746	91740	4587
XXXIII	B	5.94	209.77	370.0000	77615	91586	4579
XXXIV	B	5.12	180.81	370.0000	66901	78943	3947
XXXV	B	6.28	221.78	370.0000	82058	96828	4841
XXXVI	B	5.63	198.82	370.0000	73565	86806	4340
XXXVII	B	5.77	203.77	370.0000	75394	88965	4448
XXXVIII	B	5.85	206.59	370.0000	76439	90198	4510
XXXIX	B	6.35	224.25	370.0000	82973	97908	4895
XL	B	5.35	188.94	370.0000	69906	82489	4124
XLI	C	5.88	207.65	300.0000	62296	73509	3675
XLII	C	6.25	220.72	300.0000	66216	78134	3907
XLIII	C	5.58	197.06	300.0000	59117	69758	3488
XLIV	C	6.06	214.01	300.0000	64203	75759	3788
XLV	C	5.35	188.94	300.0000	56681	66883	3344

XLVI	C	5.85	206.59	300.0000	61978	73134	3657
XLVII	C	5.96	210.48	300.0000	63143	74509	3725
XLVIII	C	6.08	214.72	300.0000	64415	76009	3800
XLIX	C	5.10	180.11	300.0000	54032	63758	3188
L	C	5.13	181.17	300.0000	54350	64133	3207
LI	C	5.22	184.34	300.0000	55303	65258	3263
LII	C	6.26	221.07	300.0000	66322	78259	3913
LIII	C	5.10	180.11	300.0000	54032	63758	3188
LIV	C	5.54	195.65	300.0000	58694	69258	3463
LV	C	5.48	193.53	300.0000	58058	68508	3425
LVI	C	6.31	222.84	300.0000	66851	78885	3944
LVII	C	6.11	215.77	300.0000	64732	76384	3819
LVIII	C	5.01	176.93	300.0000	53078	62633	3132
LIX	C	5.87	207.30	300.0000	62190	73384	3669
LX	C	6.36	224.60	300.0000	67381	79510	3975
LXI	C	5.92	209.06	300.0000	62719	74009	3700
LXII	C	6.41	226.37	300.0000	67911	80135	4007
LXIII	C	5.72	202.00	300.0000	60601	71509	3575
LXIV	C	6.09	215.07	300.0000	64521	76134	3807
LXV	C	5.74	202.71	300.0000	60812	71759	3588
LXVI	C	6.13	216.48	300.0000	64944	76634	3832
LXVII	C	6.06	214.01	300.0000	64203	75759	3788
LXVIII	C	5.44	192.11	300.0000	57634	68008	3400
LXIX	C	6.11	215.77	300.0000	64732	76384	3819
LXX	C	5.87	207.30	300.0000	62190	73384	3669
LXXI	C	5.94	209.77	300.0000	62931	74259	3713
LXXII	C	7.13	251.80	300.0000	75539	89136	4457
LXXIII	C	7.55	266.63	300.0000	79988	94386	4719
LXXIV	C	6.98	246.50	300.0000	73950	87261	4363
LXXV	C	6.77	239.08	300.0000	71725	84635	4232
LXXVI	C	6.87	242.61	300.0000	72784	85885	4294
LXXVII	C	6.42	226.72	300.0000	68017	80260	4013
LXXVIII	C	6.87	242.61	300.0000	72784	85885	4294
LXXIX	C	5.75	203.06	300.0000	60918	71884	3594
LXXX	C	7.59	268.04	300.0000	80412	94886	4744
LXXXI	C	5.77	203.77	300.0000	61130	72134	3607
LXXXII	C	6.24	220.37	300.0000	66110	78009	3900
LXXXIII	C	5.28	186.46	300.0000	55939	66008	3300
LXXXIV	C	5.45	192.47	300.0000	57740	68133	3407
LXXXV	C	6.16	217.54	300.0000	65262	77009	3850
LXXXVI	C	5.55	196.00	300.0000	58799	69383	3469
LXXXVII	C	6.95	245.44	300.0000	73632	86886	4344
Total		498.91	17619.01		5964071.50	7037604.37	351880.22



(Laishram Gitla)

Divisional Forest Officer cum Authorized Officer  
Ukhru Forest Division  
Government of Manipur

Divisional Forest Officer  
Ukhru Forest Division  
Government of Manipur